Equazioni riducibili di secondo grado
Periodo 2 - UdA 4

Risolvere le seguenti equazioni
1] 1822 — 15z —12=0 [2| 362°427z —36=0
3] 122% 4 602 = 0 4] 21z’ 421z 414 =0
5] 4a?—3224+64=0  [6] 9622+ 144z +54 =0
7] 3922 — 21z = 0 8] 1222+ 20z +12=0
9] 1622 — 24 =0 [10] 452 +20 = 0

[11] 1202 — 75 = 0 [12]  11z% — 222 —33 =0



SOLUZIONI
Equazioni riducibili di secondo grado  Periodo 2 - UdA 4

1 3, =3 RIS VAE 3 0, =5
4] Imposs. 5] 4 6] _%
7] 1—73 , 0 8] Imposs. 9] i%

10 I'mposs. |11 % | —g 12] 3. —1



